

NAME: Paleimar Ahmad Eniola  
 MATRIC NO: 15/ENG07/042  
 DEPT: Petroleum Engineering

ENG 381 Assignment

①  $\frac{d^2y}{dx^2} - \frac{dy}{dx} - 2y = 8$

$m^2 - m - 2 = 0$

$(m-2)(m+1) = 0$

$m = 2, m = -1$

$y = Ae^{m_1x} + Be^{m_2x}$

$y = Ae^{2x} + Be^{-x}$

P-I

$y = C$

$\frac{dy}{dx} = 0$

$\frac{d^2y}{dx^2} = 0$

$0 = 0 - 0 - 2C = 8$

$C = -8/2$

G.S = C.F + P-I

$= Ae^{2x} + Be^{-x} - 4$

②  $\frac{d^2y}{dx^2} - 4y = 10$

C-F

$m^2 - 4 = 0$

$m^2 = 4$

$m = \pm 2$

$y = A \cos 2x + B \sin 2x$

P-I

$y = Ce^{3x}$

$\frac{dy}{dx} = 3Ce^{3x}$

$\frac{d^2y}{dx^2} = 9Ce^{3x}$

$9Ce^{3x} - 4(e^{3x}) = 10e^{3x}$

$9Ce^{3x} - 4Ce^{3x} = 10e^{3x}$

Divide through by  $e^{3x}$

$9C - 4C = 10$

$5C = 10$

$C = 2$

G.S = C.F + P-I

$= A \cos 2x + B \sin 2x + 2e^{3x}$

③  $\frac{d^2y}{dx^2} + 2\frac{dy}{dx} + y = e^{-2x}$

C-F

$m^2 + 2m + 1 = 0$

$(m+1)(m+1) = 0$

$m = -1, m_2 = -1$  (re -1 twice)

$y = e^{-2x}(A + Bx)$

P-I

$y = Ce^{-2x}$

$\frac{dy}{dx} = -2Ce^{-2x}$

$\frac{d^2y}{dx^2} = 4Ce^{-2x}$

$4Ce^{-2x} + 2(-2Ce^{-2x}) + Ce^{-2x} = e^{-2x}$

$4Ce^{-2x} - 4Ce^{-2x} + Ce^{-2x} = e^{-2x}$

$$e^{-2x} = e^{-2x}$$

$$C=1$$

General solution

$$= e^{-2x}(A+Bx) + P^{-2x}$$

The general solution is

$$A \cos 5x + B \sin 5x + \frac{25x^2 + 5x - 2}{125}$$

125

$$(4) \frac{d^2y}{dx^2} + 25y = 5x^2 + x$$

C-F

$$m^2 + 25 = 0$$

$$m^2 = -25$$

$$m = \sqrt{-25}$$

$$m = -\sqrt{1} \times \sqrt{25}$$

$$m = 5j$$

$$y = A \cos nx + B \sin nx$$

$$= A \cos 5x + B \sin 5x$$

PI

$$y = (x^2 + Dx) + E$$

$$\frac{dy}{dx} = 2x + D$$

$$\frac{d^2y}{dx^2} = 2C$$

$$2C + 25(x^2 + Dx + E) = 5x^2 + x$$
$$= 2C + 25x^2 + 25Dx + 25E = 5x^2 + x$$

Comparing coefficient

$$25C = 5$$

$$C = 1/5$$

$$25D = 1$$

$$D = 1/25$$

$$2C + 25E = 0$$

$$2(1/5) + 25E = 0$$

$$25E = -2/5$$

$$E = -2/125$$

125

(105)

$$\frac{d^2y}{dx^2} - 2\frac{dy}{dx} + y = 4\sin x$$

$$m^2 - 2m + 1 = 0$$

$$(m-1)(m-1) = 0$$

m = 1 twice

$$y = e^x (A + Bx)$$

P-I

$$f = (\cos x + D \sin x)$$

$$\frac{dy}{dx} = -(\sin x + D \cos x)$$

$$\frac{d^2y}{dx^2} = -(\cos x - D \sin x)$$

$$-(\cos x - D \sin x - 2C \sin x + (\cos x + D \sin x)) = 4\sin x$$

$$= -(\cos x - D \sin x) + 2(\sin x - \cos x + D \sin x) = 4\sin x$$

$$2(\sin x - 2D \cos x) = 4\sin x$$

Comparing coefficient

$$2C = 4$$

$$C = 4/2 = 2$$

$$2D = 0, D = 0$$

$$y = 2\cos x + 0\sin x = 2\cos x$$

General solution =

$$e^{2x}(A+Bx) + 2\cos x$$

106)

$$\frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 5y = 2e^{-2x}$$

given that at  $x=0, y=1$

$$\text{and } \frac{dy}{dx} = -2$$

$$m^2 + 4m + 5 = 0$$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$= \frac{-4 \pm \sqrt{16 - 20}}{2}$$

$$= \frac{-4 \pm \sqrt{-4}}{2}$$

$$= \frac{-4 \pm \sqrt{-1} \times \sqrt{4}}{2}$$

$$= \frac{-4 \pm j2}{2}$$

$$= -2 \pm j$$

so)  $m = -2 + j$  and  $m_2 = -2 - j$

$$y = e^{-2x} (A \cos x + B \sin x)$$

PI

$$y = ce^{-2x}$$

$$\frac{dy}{dx} = -2ce^{-2x}$$

$$\frac{d^2y}{dx^2} = 4ce^{-2x}$$

$$4ce^{-2x} + 4(-2ce^{-2x}) + 5(e^{-2x}) = 2e^{-2x}$$

$$4c - 8c + 5c = 2$$

$$4c - 8c + 5c = 2$$

$$c = 2$$

$$y = 2e^{-2x}$$

General solution

$$= e^{-2x} (A \cos x + B \sin x) + 2e^{-2x}$$

at  $x=0, y=1$

$$(1) 3\frac{d^2y}{dx^2} - 2\frac{dy}{dx} = 2x - 3$$

CI

$$3m^2 - 2m - 1 = 0$$

$$(3m+1)(m-1) = 0$$

$$3m = -1 \text{ or } m = 1$$

$$m = -\frac{1}{3}, m = 1$$

$$y = A e^{-\frac{1}{3}x} + B e^x$$

PI

$$y = cx + d$$

$$\frac{dy}{dx} = c$$

$$\frac{d^2y}{dx^2} = 0$$

$$3(c) - 2(c) - [(cx+d)]^2 = 2x - 3$$

$$0 - 2c - (cx + d) = 2x - 3$$

Comparing coefficient

$$x^0 - c = 2$$

$$c = -2$$

Constants  $-2c - d = -3$

$$4 - d = -3$$

$$d = 7$$

$$y = -2x + 7$$

General solution

$$A e^{-\frac{1}{3}x} + B e^x - 2x + 7$$

Q.8)

$$\frac{d^2y}{dx^2} - 6\frac{dy}{dx} + 8y = 8e^{4x}$$

C-F

$$m^2 - 6m + 8 = 0$$

$$(m-4)(m-2) = 0$$

$$m_1 = 4, m_2 = 2$$

$$y = Ae^{4x} + Be^{2x}$$

P-I

$$y = (x e^{4x})$$

$$\frac{dy}{dx} = [x \cdot 4e^{4x} + e^{4x}]c$$

$$\frac{d^2y}{dx^2} = 4c [x \cdot 4e^{4x} + e^{4x}] + 4ce^{4x}$$

$$16cx e^{4x} + 4ce^{4x} + 4ce^{4x}$$

$$16cx e^{4x} + 8ce^{4x} - 6[4cx e^{4x} + e^{4x}] + 8cx e^{2x} = 8e^{4x}$$

$$16cx e^{4x} + 4ce^{4x} + 4ce^{4x} - 24cx e^{4x} - 6ce^{4x} + 8cx e^{2x} = 8e^{4x}$$

$$16cx + 4c + 4c - 24cx - 6c + 8cx = 8$$

$$= -8cx + 2c + 8cx = 8$$

$$2c = 8$$

$$c = \frac{8}{2}$$

$$c = 4$$

$$y = 4x e^{4x}$$

General solution

$$Ae^{4x} + Be^{2x} + 4x e^{4x}$$